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IM2 - 2.2 (P — aV3 MathDrills A) Combining Like Terms (4 Term)

6 —1—c—1

1 —bx—1—>bx

. u—2bu+1+bu

24+ 14x—1

. 1+av+3—3a

Simplify each expression.

6. | +uy—1+1

7.3c—cz+1+1

8. x2+x+1—6

9. 1 —6x+5+1

10. V2 4+1—1v>—6v
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IM2 - 2.2 (P — aV3 MathDrills A) Combining Like Terms (4 Term)

Simplify each expression.

L6 —1—c—1 6. 1 +uy—1+1
=6b* —c—2 =uy+1
1—bx—1—bx 7. 3c—cz+1+1
= —2bx = —cz+3c+2
. u—2bu+1+bu 8.x2—|—2x—|—1—6
= —bu+u-+1 =x"4+x-95
24+ 1+x—1 9. 1 —6x+5+1
:x+2 :_6X—|—7
.1+av+3—-3a 10. V241 —v>—6v
—av—3a+4 =—6v+1
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